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SHEERNRE SHCEE)INEFEEMR)MEE - ath(-12ms 1 HE R THE (F2R)

£ R g - BIKHiE BT % 2 B £ # W =

BEiEISE 139, 101, 603
AEE - At - MRZFEY 139, 101, 603
BET 78,195, 290
TS T%ET 78,195, 290
75 J# % GRITMER) 78,195, 290
1-1 U5 JR%EHEHBER) (1) BELH NMEIOKRE KFE15nFKE 25.152. 00 2,765 69, 545, 280

m3
1-2 5788 EHHER) 2) BELE NE10~30KHE KiFEI5mEKiH 2,056. 00 3,785 7,781,960

m3
1-3 U5 J%%mMm (T EhBRA) MR G 977 BEM HED15m3 x 1#E 1.00 868, 050 868, 050

NFHER) )

=
T#T 60, 906, 313
TEMERT 21,058, 992
TEMERR GRITRIERE) 21,058, 992
1-4 TEMER BENRTE) B 8H1300m3%E (FEER) 27, 208. 00 774 21,058, 992

m3
BLtiET 39, 847, 321
HEEYHBA 38,526, 528
1-5 FEEYHEA 27, 208. 00 1,416 38,526, 528

m3
PR 4 BN 1,320,793
1-6 HERb4HEN 1.00 1,320,793 1,320,793

=




BHBEERNRE

HHEFEENINBCEEMEMEE - Ath(-12msM HRIETE (F2R)

£ b R - ARk B 2 B & # &
HEREZE FEL) 9,243, 821
HE R 9,243, 821
HBEREE 9,243, 821
EXBALEESRE 9,123, 821
KEEALLE 6,507, 621
1-7 BABLEEEH H=2,5,6,7, 8m 1.00 2,850, 140 2,850, 140
=
1-8 FAMILERTEE(ETH) H=5, 6, 7, 8m 1.00 226, 947 226, 947
%
1-9 FAMLERRTEE (BxXH) H=2m 1.00 68,074 68, 074
=
1-10 ;B&EBh LR 1.00 3,022, 560 3,022, 560
=
1-11 BEBLE#HE (ETR) H=5m 60. 00 5, 665 339, 900
m
K& BB L 2,616, 200
1-12 BELERERSE 20m x 20m 1.00 1,565, 600 1, 565, 600
=
1-13 FBAELBEE 1.00 1,050, 600 1,050, 600
=
BitEEE 120, 000
HifrgE 120, 000
1-14 HiEEE 1.00 120, 000 120, 000
=
EHiZHEE 3,977,373




SHEERNRE SHCEE)INEFEEMR)MEE - ath(-12ms 1 HE R THE (F2R)

£ g R - KT BfI 8 2 B M ki £ wmE

FEES 3,977,373
TILFE—LBIE 3,977,373
TILF E—LBIE 3,877,313
Bl =X fE 421,046
2-1 BI=#1m (ICT) 1.00 181, 244 181, 244

=
2-2 HEMIEWR QEEZY) (D) IR 1.00 119, 901 119, 901

=
2-3 HEMIEWR QEEZY) ) WIS 1.00 119,901 119, 901

=
KiRA= 1,324, 650
2-4 fEEET Xk (ICT) (1) TR 1.00 642, 275 642,275

=
2-5 fEEET Xk (ICT) (2) % THF 1.00 642, 275 642,275

=
2-6 A (ICT) (1) TR 0.03 668, 350 20, 050

km2
2-7 AECT) (2) % T B 0.03 668, 350 20, 050
km2

[5Z] 2,131,671
2-8 EIBFT—%2 2 (ICT) 1.00 614, 796 614, 796

=
2-9 BT RET—4& B (ICT) 1.00 1,516, 881 1,516, 881

=
EEREE 100, 000
[5Z] 100, 000




SHEERNRE SHCEE)INEFEEMR)MEE - ath(-12ms 1 HE R THE (F2R)

% R R - RARSTiE BfL % 8 B ® # m o=

2-10 X#BHESR 1.00 100, 000 100, 000

=
E#R 267, 285
BE 3] 267, 285
TILFE—LAIE 267, 285
EEAGE 259, 500
S 259, 500
3-1 3RFakEtT— 42 1ERL (ICT) 1.00 259, 500 259, 500
BEERE 7,785
EHRARE 7,785
3-2 EBHAME 1.00 7,785 7,785

=




BHRERER HH06 )| PRI BOMES M- 12m)sM HER R T ($25)

% g R - KSR Bifr B 2 B i & B W =
EEIEE 139, 101, 603
MEIEH 21,872,626 + 34,046, 049 55,918, 675
HERERE GDH 9,243,821 + 11,946,969 + 681,836 21,872, 626
HBRBE (FEL) 9,243, 821
HBEREE (X)) 148,225,424 x 8.06% ((5.00% x1.28 +1.50%) x 1.02) 11,946, 969
ReRnyEs 148,225,424 x 0.46% 681, 836
Regng 160,974,229 x 21.15% ((18.86% +1.67% x 1.03) 34,046, 049
TER 139,101, 603 + 55,918, 675 195,020, 278
—REEES 195,020,278 x 15.65% (15.65% x 1.00) — 8,959 30,511,714
KRR HE 195,020,278 x 0. 04% 78,008
T &l 195,020,278 + 30,511,714 + 78,008 225, 610, 000
EENEE 3,977,373
HEHE 3,977,373 x 73.0% — 855 2,902, 627
AEEEE 3,977,373 + 2,902, 627 6, 880, 000
BB E TS 6, 880, 000
BRI 259,500 + 7,785 267, 285
EEAGE 259, 500




BHRERER HH06 )| PRI BOMES M- 12m)sM HER R T ($25)

£ g - KSR B B B2 B i & B IS
EERE 7,785
T DR 259,500 x 53.85% ( 35% =+ (1 — 35%) ) 139, 740
RHRIE 267,285 + 139, 740 407, 025
—REEES 407,025 x 53.85% ( 35% + (1 — 35%) ) — 6,207 212,975
KBS 407,025 + 212,975 620, 000
B EHEAE 225,610,000 + 6,880,000 + 620, 000 233,110, 000
HEREELE 233,110,000 x 10.00% 23,311,000
FEIZRE 256, 421, 000




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :1-1
& VS TREEEABER) (1) BELR NMEIOKRE KiFRI5nKH 1TBHY (1354m 3)
2 b g - BIRTE By = BHO(f ® W = " =
55 TREM (EEmER) (X/8y FRX) (B8 |#8D 15. 0m3
AHIER) B 1.00 3,354, 533. 00 3, 354,533/3.50H / 8H
S (U3 TigEMm(R/Sy FR)) $MD 1500PSE!
B 1.00 370, 784. 00 370, 784/2.00H / 8H
MR 2E0%
% 0.50 3,725,317.00 18, 626
& B YEZERESN : 1,354.00m 3 2,765.00 3,743,943
&5 :1-2
B VS TREBEAWER) 2) BELR NBEIO~30KRME KiFEI15nFKE 1TBHY (989m 3)
2 b g - BIRTE By = BHO(f ® W E " =
55 TREM (EEmER) (X/8y FRX) (B8 |#8D 15. 0m3
AHIER) B 1.00 3, 354, 533. 00 3, 354,533/3.50H / 8H
S (U3 TgEMm(R/Sy FR)) $MD 1500PSE!
B 1.00 370, 784. 00 370, 784/2.00H / 8H
MR ELNOY
% 0.50 3,725,317.00 18, 626
& B YEZERES : 989.00m 3 3,785.00 3,743,943
&5 :1-3
& U S T REMR (S @A) MR (BEAWESR) 577 REM HHD15m3 x 18 E 1LY
2 b g - BIRTE By = BHO(f ® W E " =
55 TREM (EEmER) (X/8y FR) (B8 |#8D 15. 0m3
AHIER) B 0.50 1, 523, 680. 00 761, 840 fitFH
S (U S TgEMm(R/Sy FR)) $MD 1500PSE!
B 0.50 212,420. 00 106, 210 #t A
& Hi 1E%Heh - 1.00K 868, 050. 00 868, 050




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :1-4
& . LEMER BEARTE) TEM #H1300m3%E (FEEX) 1B%Y (1317m3)
2 b g - BIRTE By = B O %8 W = " =
TEM (R ) $M1300m37& (A=)
B 2.00 260, 160. 00 520, 320 8H
5 fia £MD 2000PS#Y
B 1.00 494, 723. 00 494,723/2.00H / 8H
MR EXENOY
% 0.50 1,015, 043. 00 5,075
& B YEZERESN - 1,317.00m 3 774.00 1,020, 118
&5 :1-5
85 AU EA 1,31Tm3 &Y (1317m 3)
2 b g - BIRTE By = B O %8 W E " =
EEE M GEfMEE) $AD 200t H
B 1.00 1, 560, 602. 00 1,560, 602 6. 00H / 8H
B (REZEDHLENES) $AD 10tH
B 1.00 295, 407. 00 295, 407 |8H
MR EXENOY
% 0.50 1, 856, 009. 00 9, 280
& B YEZERESN - 1,317.00m 3 1,416. 00 1, 865, 289
&5 :1-6
%5 . BERDAEEN 1LY
2 b g - BIRTE By = B O %8 W E " =
TIL F—H B H AR RE) (G2 EEGRER 11t
IZE5RHNEER) B 21.00 62, 582. 00 1,314,222 4.00H / 8H
MR 2E0%
% 0.50 1,314, 222. 00 6, 571
& B 1E%Heh - 1.00K 1, 320, 793. 00 1,320, 793




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :1-1
2% BAEMLEEEM H=2,56,7 8m 1%y
2 b g - BIRTE By = BHO(f ® # " =
FAMLESHE ZEHO) (ETH) EEzX #5600, $400 [EH] )
H=5m = 1.00 487, 290. 00 487, 290
FAMLESH (ZE50) (ETH) EEzX #5600, $400 [EH] )
H=6m = 1.00 672, 000. 00 672,000
FAEMLESHE (ZEH0) (ETH) EEzX #5600, $400 [EH] )
H=7m = 1.00 911, 750. 00 911, 750
FAMLESH EEOH) (ETH) EEzX #5600, $400 [EH] )
H=8m = 1.00 590, 100. 00 590, 100
FAMLESH EOHG) (Bi#) AEX (#3000, $300 [E¥H] )
H=2m = 1.00 189, 000. 00 189, 000
& Hi 1YE%HeH - 1.00K 2,850, 140. 00 2,850, 140
&5 :1-8
&% FAEBLERTEEETE) H5,6,7, 8m 1LY
2 b g - BIRTE By = BHO(f ® # " =
BB LR SR BLEESREERSHY) 100~500m K
[=] 7.00 32,421.00 226, 947
& Hi 1E%HeH - 1.00K 226, 947. 00 226, 947
&5 :1-9
% FALERTERE (BXE) H=2m 1LY
2 b g - BIRTE By = BHO(f ® % # " =
B E LS iR KpEHERR EEMOBEEZMEHT) 100m
i [=] 1.00 68, 074. 00 68, 074
& Hi 1E%Heh - 1.00K 68, 074. 00 68, 074




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :1-10
& BEILEREREE 1LY
2 b g - BIRTE By = B O %8 W = " =
5 fia £MD 300PSZEY
B 20.70 145, 291.00 3,007,523/4.00H / 8H
MR EXENOY
% 0.50 3,007, 523.00 15, 037
& B 1YE%HeH - 1.00K 3,022, 560. 00 3,022, 560
&5 1-11
& BAEBLERSE (FETE)  H=bm 120m¥% Y
2 b g - BIRTE By = B O %8 W E " =
BB ERE EEY L—2idds
m 120. 00 5, 665. 00 679, 800
& Hi YEZERESD : 120.00m 5, 665. 00 679, 800
&5 :1-12
¥ BAELSERE 20mx 20m 1LY
2 b g - BIRTE By = B O %8 W E " =
BB 20m x 20m
= 1.00 1, 565, 600. 00 1, 565, 600
& Hi 1E%HeH - 1.00K 1, 565, 600. 00 1, 565, 600
&5 1-13
%5 FABLREE 1H LY
2 b g - BIRTE By = B Ol %8 W = " =
EE RS fE LS L—Ad (#1720 x 20m#R)
= 1.00 1, 050, 600. 00 1,050, 600
& Hi 1E%HeN - 1. 00& 1, 050, 600. 00 1,050, 600




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :1-14
2% HivEEE 1XEY
2 b g - BIRTE By = B 4 ) W = " =
HREINAE
IE 1.00 120, 000. 00 120, 000
& Hi EZBER - 1. 00 120, 000. 00 120, 000
&5 : 2-1
2 b g - BIRTE By = B 4 ) W E " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.00 36, 900. 00 36, 900
BEENF
A 0.50 34, 600. 00 17, 300
MR ELNOY
% 1.00 179, 450. 00 1,794
& i EZBER - 1.00 181, 244.00 181, 244
&5 :2-2
£ BMERQEESZY) () BI IEED)
2 b g - BIRTE By = B 4 ) W E " =
BIEWHEE
A 2.00 25, 900. 00 51, 800
FSvo 2tiE
=] 2.00 33, 457.00 66,914/ 4.70H / 8H
MR 2E0%
% 1.00 118, 714. 00 1,187
& i EZBER - 1.00= 119, 901. 00 119, 901




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :2-3
£ BMIERQEESY) () BRI 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEWHEE
A 2.00 25,900. 00 51,800
FSvo 2tiE
B 2.00 33, 457. 00 66,914/4.70H / 8H
MR 2E0%
% 1.00 118, 714.00 1,187
& B 1YE%HeH - 1.00K 119, 901. 00 119, 901
&5 :2-4
S BETRKAC (1) RBI 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
REE S4 kY 2L
B 1.00 3,630.00 3,630/2.00H / 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.50 36, 900. 00 55, 350
BEBF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 51, 446. 00 51,446 8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILFE—LBERZEH 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 1.00 635, 916. 00 6, 359
& B 1E%HeH - 1.00K 642, 275. 00 642, 275




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&S :25
A BBETRXKIC (2) BIK 1%y
2 b g - BIRTE By = B 4 ) W = i
REE S4 kY 2L
B 1.00 3,630.00 3,630/2.00H / 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 51, 446. 00 51,446 8H
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 1.00 635, 916. 00 6, 359
& B 1E%HeH - 1.00K 642, 275. 00 642, 275




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&S :2-6
L% RAEEJCT) (1) #EIE 1HHY (0.88km2)
£ 5 L - BIRTiE BAf = B %5 = & &
REE S4 kY 2L
B 1.00 3,630.00 3,630/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 51, 446. 00 51,446 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
B
A 1.00 36, 900. 00 36, 900
BEENF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEEBIFEE 36~455kHz
B 1.00 339, 900. 00 339, 900
HEMH 2EDY
% 2.00 576, 616. 00 11, 532
& B YE%HEH :0.88km2 668, 350. 00 588, 148




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :2-1
L% BEEACT) ) H®I 1B%4Y (0.88km?2)
2 b g - BIRTE By = it ® W = " =
REE S4 kY 2L
B 1.00 3,630.00 3,630/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 51, 446. 00 51,446 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILFE—LBERZEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 2.00 576, 616. 00 11, 532
& B YEEREN : 0.88km2 668, 350. 00 588, 148
&5 :2-8
& BIFT—2 28 (ICT) 14y
2 b g - BIRTE By = it ® W E " =
BIEFEHEM
A 3.10 54, 600. 00 169, 260
RIS HRER
A 4.10 47,100. 00 193, 110
Bl S H A
A 6. 20 36, 900. 00 228, 780
MR 2E0%
% 4.00 591, 150. 00 23, 646
& B 1E%HeH - 1.00K 614, 796. 00 614, 796




Rifiz -/ \v7r—o

BHOEE)INEREEBRME - At 12mo #HRR TR (F2R)

&5 :2-9
B BIET— 2 2E (ICT) 1LY
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 5.10 54, 600. 00 2178, 460
RIS HRER
A 14.40 47,100. 00 678, 240
Bl S H A
A 13. 60 36, 900. 00 501, 840
MR 2E0%
% 4.00 1, 458, 540. 00 58, 341
& B 1YE%HeH - 1.00K 1,516, 881. 00 1,516, 881
&5 :2-10
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
&5 : 3-1
ZFF : SRITEET T — R HERK (ICT) s EP
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
e (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi 1E%HEDN 1. 005EER 259, 500. 00 259, 500
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RiEFR-FET/\vr—2 SR BRI ROMBE - Eit(-12m)sM R TH (F2R)

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 7,785.00 7,785
& Hi 1YE%HeRH 1,00 7,785.00 7,785
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